HOUSE
Oy

AEEE TRRRRRRRRRRRRRRRRRA
.

EXISTING COVERED PORCH SLAB w/ COLUMN

DOOR SWING~ '
&
LOCATION
VARIES

13'0. _

il
10", - 6'11" /Lk/ 4'9"
/
on

1x2 END TYP.
POST TYP. l’ POST TYP: .
(e  S—— '
611" 611"
1 2"
148"

FLOOR PLAN

SCALE: 1/4"=1-0"

150 MPH ULTIMATE WIND SPEED:
Vasd = 116 MPH

WINDWARD SURFACE 43 PSF
LEEWARD SURFACE 34 PSF
SCREEN UPLIFT 12 PSF
SOLID SURFACE UPLIFT 36 PSF

THIS PLAN HAS BEEN DESIGNED WITH WIND LOADS USED FOR SCREEN & VINYL ROOMS
FROM CHAPTER 20 OF FLORIDA BUILDING CODE 8TH EDITION (2023).

THIS STRUCTURE IS TO BE AN ADDITION TO AN EXISTING STRUCTURE. THE LOADS ASSUME
A MEAN ROOF HEIGHT OF LESS THAN 30 ft. ROOF SLOPE OF 0 DEGREES TO 20 DEGREES.

ALL LOADS ARE BASED ON 20/20 SCREEN OR LARGER. WIND EXPOSURE C, RISK CATEGORY Il

160 MPH ULTIMATE WIND SPEED:
Vasd = 124 MPH

WINDWARD SURFACE
LEEWARD SURFACE 39 PSF
SCREEN UPLIFT 14 PSF
SOLID SURFACE UPLIFT 41 PSF

49 PSF

PRESSURES ARE LISTED AS STENGTH DESIGN PRESSURES

‘.\\nsuuum,ﬂ
.Q_\\\‘“\“‘;S PO,
SOV o ey,
{ Mo, %935‘3 % .2 Digitally signed SN ﬁ\b‘S A
2 st oF fa2 by Tomas Ponce _is-} O ;,h'“’“*l-,fb' .
2% %, F o = o, i M
Y et Date: S AT S OCENg LR
e 2024.11.19 £ § no sooss :
o raeeyses e 18:57:40-05'00 Shi « ¥
L P 0068 Z oy STATEOF [,
407-484-0037 = B % Tl
?}'- O, ..'D_I OR io;."- q‘;:.d:" £
This item has been digitally signed and ‘% '@'@G"""-"" x‘hﬁ\ o
sealed by [Tomas Ponce PE, FL # 0050068], /{'{, IDNAL % ‘Qt\{\
on the date adjacent to the seal. Printed ff-’fm" ““\\\‘b
copies of this document are not considered st
signed and sealed and the signature must
be verified on any electronic copies.
GENERAL NOTES:

1. MAX HEIGHT TOP OF 1x2
TO BOT. OF 1x2 IS 8-10"
MAX. HGT.2x4 SMB IS 8'-10"

2. MAX DISTANCE BETWEEN
2x4 POSTS IS 6'-6"

%

e

VARIES WITH MODEL
8'-10" MAX HGT.

NN

ey

1x2
END
POST

=]

1x2 TOP
RAIL & / 1x2
END POST / END
POST
/ 2x4
SMB
/ (TYP.)

NN N NN

8'-10" MAX HGT.
VARIES WITH MODEL

ki

/

3'-0" DOOR

LOCATION VARIES

— KICKPLATE HGT. VARIES

16",20",24"
ON 2x2 RAIL (TYP.)

/

REAR ELEVATION

KICKPLATE HGT, VARIES
16",20",24"
ON 2x2 RAIL (TYP.) 148"
130"
SIDE ELEVATION
SCALE: 1/4"=1'-0" SCALE: 1/4"=1-0"

Mgy

johnscronk@gmail.com

pd
o
9
o
M~
o~
P~
o
<t
o
v

~0
o
~0
s
~
I~
"
-
o
=

Don't Releco

DESIGN &
BUILDING CONCEPTS, LLC

w
& .8

L QR;;#
PELERN
sc9.5 O

27 <

wBa4te AN
SLEES 5
OQ-_LIJOQ,-‘_'
T B,
< B2z <
= 95
[e]

Pt

"THIS PLAN HAS BEEN DESIGNED IN ACCORDANCE WITH THE |
FLORIDA BUILDING CODE - RESIDENTIAL 8TH EDITION (2023).]

All Florida

=
—

‘mbww

DESIGNED BY: All FI Window & Screen LLC
43 S. Charles Richard Beall Blvd
DeBary, FL 32713

Copyright 2023 by

ALL RIGHTS RESERVED

NO REPRODUCTION MAY BE MADE

WITHOUT THE EXPRESSED WRITTEN CONSENT OF

All FL Window & Screen LLC

L
2| &
Q| o
O oS
I
06w
I
S| w| Qm
P
O (@) o e
] T o DLL
~ | 2y
< < - O>_
Ry 0| o =
4 |29 z0
x 8 § (/)E
© ©
IR
—
E Sheet: Of:
E 1




= § ¢
EXISTING TRUSSED CALK TOP OF LAG imenEsice o e A 3 § ¢
FRAMED RALTER DaeL OSTE / TR gl 5% rassomonmei b e [ 92¢5 3% ¢
FRAMED RAFTER \ #8x 12 SMS. @ PANEL < = 8 & *
/ 8"0.C. BOTH SIDES = = - 92 5 s
#10x 1 1/2" S.M.S. OR = - N ,l ‘ﬁﬂ
WOOD SCREW (2) PER—— - NEW ROOF PANEL 2", 3", OR 4" ALUM. BM. ‘ 5
RAFTER OR TRUSS TAIL (4) 1/4 " LAGS PER PANEL ON BEARING SIDE EXTRU S I O N ak
6" FROM ENDS NO GREATER THEN 24"0.C. 1x2 HOLLOW  .044
EXISTING FASCIA BD. 1%x3 HOLLOW 044

1/4" @ 24"0.C. ON NON BEARING SIDE

ROOF PANEL TO FASCIA DETAIL ACRYLIC, VINYL & SCREEN RMS. 53 HOLLOW 045

SCALE: N.T.S. 2x4 HOLLOW .045

Py
(¢
N
o
S
z
o
[=
o
w
T
=
0
.
<
E
z
w
s}
@
w
x

A
Dl‘g@NED IN ACCORDANCE WITH THE [§

] 2x5 HOLLOW . g 285 §
+ =1 ROV b B
o By (::‘ jf.-' h g S C\D
T ShanS Loy s el o
EXISTING HOST N oR2r4tEADE = = § N OCENS O B 27538 o
STRUCTURE " OR 2x ¢ HEADER e £ §Nosones k DESP
¥ | FASTEN TO POST WITH l = g i Mo : =
#3x 1/2"SMS. @ 2x2,2x3,3x2, N (4)#10x 1 1/2"S.M.S. 4 (@#10x11/2"'SM.S. = i m%ﬁs OF H %g
MASONRY / 8'0.C. BOTH SIDES OR 2 x 4 HOLLOW —— IN SCREW BOSSES | IN SCREW BOSSES OR 2 % %, od GO
1/4" x 1 1/4" MASONRY i N EXTERNAL OR INTERNALZ, @ L ORIV &@
ANCHOR @ 21_0" OC CLIP WITH (4) #10 X 1/2" % .?'9,3 Taapgann® tkﬁ\ Ty
. = o = SCREWS Yy, ONAL ©
~ "y, A
wooD + N Aty
WS.XSEKEWS&”'?; oc. \ HOLLOW 2x 2. 2x 3 " SIDE WALL KICK PLATE RAIL
I KICK PLATE RAIL WITH [ ATTACHED TO 1 x 2 WITH (4)

1/8" INTERNAL OR EXTERNAL CLIP - /#10 x 11/2" S.M.S. SCREWS

ROOF PANEL TO WALL DETAIL WITH (4) # 10 x 1/2"S.M.S. IN SCREW BOSSES OR EXTERNAL

OR INTERNAL CLIP WITH (4) #10

SCALE:N.T.S. POST ATTACHED TO 1x BOTTOM . | T x1v2sms.
WITH (2) #10 x 1 1/2" S.M.S.
IN SCREW BOSSES

” E| All Florida l
FLLIN WINDOW ¢ SCREEN

EXISTING TRUSSED BREAK FORMED METAL SAME ] I
IE)IEA%/IOE'\I;VIEE;':%EAIH\\ THICKNESS AS PANEL EXTENDED / 1x2BOTTOM
UNDER DRIP EDGE . . 1x2, 1x 3 TO FRONT POST WITH
#10x 1 1/2" S.M.OR [ | o 2OST l #10 %1 112" SM.S. WITHIN 6" FROM
/ WD. SCREW @ 16" O.C. L N0 GREATER THEN 24" 0.0. / END NO GREATER THEN 24" O.C.
/#8x 12" SM.S. e 1 1 MIN.FrOM
STRUCTURE @8oc. TYP. UPRIGHT DET. | EPGEOFSLAB
=1 SCALE: N.T.S. ’1/{ o
; POST ATTACHED TO 1x BOTTOM 14 s e
WITH (2) #10 x 1 1/2" S.M.S. B L S — T T T —
MASONRY A
| 1/4" x 1 1/4" MASONRY " IN SCREW BOSSES AT T S S L A—
\_ANCHOR OR EQUAL @ 2'-0" O.C. I 1x 2 BOTTOM e AR Y| =
WOOoD . =11 sy <=l === 3| 2
#10x 1 1/2" SM.OR #10x 3" HEX = S ISl & 5 8§
WD. SOREW @ 240.C. LIZZ it oF rost o il S el
= GREATER THEN 24" O.C. o < 25
ALT. COMPOSITE ROOF 1= = SRR e S
~ 4
PANEL TO WALL DETAIL PG TF$JI';’DAT§;)NALTERNATE CORNER DET —
SCALE:N.T.S. BOT. TO WOOD DET. SCALE-NTS. . =
SCALE:N.T.S. 3




2x2,2x3,3x2,
OR 2 x4 HOLLOW—

)

ey

i

OLLOW 2x2,2x3
KICK PLATE RAIL WITH
EXTERNAL CAPRI CLIP
WITH (4) # 10 x 1/2"S.M.S.

-

POST TO BOTOMWITH
EXTERNAL CAPRI CLIP
WITH (4) # 10 x 1/2"S.M.S.

/ 1x2BOTTOM

1/4" x 2 1/4" MASONRY
_~ANCHOR WITHIN 6" OF POST

NO GREATER THEN 24" O.C.

ALT. UPRIGHT DET.

SCALE: N.T.S.

VARIES

1 SEE PLAN

THIS PLAN HAS BEEN DESIGNED WITH WIND LOADS USED FOR SCREEN & VINYL ROOMS
FROM CHAPTER 20 OF FLORIDA BUILDING CODE 8TH EDITION (2023).

THIS STRUCTURE IS TO BE AN ADDITION TO AN EXISTING STRUCTURE. THE LOADS ASSUME A MEAN
ROOF HEIGHT OF LESS THAN 30 FT. ROOF SLOPE OF 0 DEGREES TO 20 DEGREES ALL LOADS ARE

BASED ON 2020 SCREEN OR LARGER. WINDO EXPOSURE C, RISK CATEGORY I
150 MPH ULTIMATE WIND SPEED:

VASD = 116 MPH
WINDWARD SURFACE 43PSF
LEEWARD SURFACE 34 PSF
SCREEN UPLIFT 12 PSF
SOLID SURFACE UPLIFT 36 PSF
PRESSURES ARE LISTED AS STRENGTH DESIGN PRESSURES

VASD =124 MPH
WINDWARD SURFACE
LEEWARD SURFACE
SCREEN UPLIFT

160 MPH ULTIMATE WIND SPEED

49 PSF
39 PSF
14 PSF

SOLID SURFACE UPLIFT 41 PSF

024KICK PLATE -~ 7 T /o

24"

COIL HIEGHT 20" h /

VARIES SEE PLAN| > . /

/
i Z
/16" HEX HEAD SCREw  KICK PLATETRIM

@ EACH POST & SPACED
NO GRATER THAN 16" O.C.

KICK PLATE DET.

SCALE: N.T.S.

e

",

2x2, 2x3, 2x4
KICK PLATE RAIL
SEE PLAN

1x2, 1x3
BOTTOM RAIL
SEE PLAN

2
%

& raappanntt
Stons
Ly

by

o

o
%

E

Pt

f’ff;

johnscronk@gmail.com
Don't Relccate... Renovate!

-
~
o
b
o
g
£
~
o
=t
©

o

-0
o
0
2
P
I~
@
P~
(=]
=T
o}

DESIGN &
BUILDING CONCEET.

&

W 28y
o
38z®8 N
20 g o

onu“
BRd 9
N
ZWiEs O
-wog
tF=3%
< B2F i
=z 9g i
[e]
o

"THIS PLAN HAS BEEN DESIGNED IN ACCORDANCE WITH THER]
FLORIDA BUILDING CODE - RESIDENTIAL 8TH EDITION (2023)"

1 All Florida
WINDOW ¢& SCREEN

V4
/
.iE .
I | | |
I )

[

1
2
3
4
5

DESIGNED BY: All FI Window & Screen LLC
43 S. Charles Richard Beall Bivd
DeBary, FL 32713

Copyright 2023 by

ALL RIGHTS RESERVED

NO REPRODUCTION MAY BE MADE

WITHOUT THE EXPRESSED WRITTEN CONSENT OF

All FL Window & Screen LLC

w
3 &
Qo 3
O (D§
n = w o
L [%2] oy
S| W 2o
o) x o~
I| Q@ ak
3| g 3%
o =
P ™ =0
g 5 oY
wn <§f I I
1 o N d
ol
gLIJ Sheet: Of:
: O 3.1




